
F I T S : U N I V E R S A L  A P P L I C AT I O N S

PART#  I N C L U D E D
404990L 1 Taillight Lens
609440L 1 L.E.D. Board Assembly
404990LH 1 Lens Housing
404990 1 Tail Light Housing
404990G 1 Flat Gasket — Soft Rubber
201152 3 8–32 X 9/16” Phillips Head Pan Screw
200097 2 1/4”–20 Nylock Nut
201153 1 1/4”–20 X 5/8” Ribbed Neck Domed Smooth Head Bolt
201154 1 1/4”–20 X 1 3/8” Ribbed Neck Domed Smooth Head Bolt
904990 1 Wiring Kit Including:
400834 3 T-Tap Female Quick Slide Scotch Lock Connector
400846 3 Male Scotch Lock Connector
400815 3 4” Cable Tie
401209 1 Dielectric Grease
304990 1 Instruction Sheet

T O O L S  S U G G E S T E D
7/16” Socket or Combination Wrench, Pliers, Wire Stripper/Crimper, 1/4” Drill Bit

IMPORTANT INTENDED FOR USE IN CUSTOM APPLICATIONS

P R O C E D U R E
STEP 1 Center the Tombstone Taillight and mark the places you will need to drill in your
fender for the bolt holes. Use your 1/4” drill bit to drill these holes. You will also need to
drill an additional hole for routing the wires through your fender. Drill this hole in relation to
where the wires exit the Taillight housing.

STEP 2 Feed the wires through the rubber gasket and then feed the wires through the
hole you drilled in your fender for wire routing. Set the Tombstone Taillight in place with the
bolts from the taillight throught the holes you drilled in the fender. Fasten the tail light in
place using the 1/4"–20 Nylock nuts for each bolt underneath the
fender. See below for wiring instructions.

STEP 3 WIRING THE TAILLIGHT
NOTE Make sure you disconnect the negative
cable from your battery while connecting ALL wires.
For connecting these wires you will be using T-Tap Female
Quick Slide Scotch Lock Connectors and Male Scotch Lock 
Connectors. See PIC.1 for proper usage of these connectors.
The Tombstone's black wire is ground, the red wire operates 
the run function and the white wire operates the brake
function. Connect these wires to your bikes corresponding
wires.

STEP 4 Reconnect the negative cable to your battery, start
the bike and test for function. Use supplied 4” cable ties to secure the wires away from
moving parts.
4990-22HD-1203

TOMBSTONE  TA I L L IGHT 4990

I N S TA L L AT I O N

Illiana

E - M A I L

techsupport@kuryakyn.com
or call 715.247.2983

WA R R A N T Y
Küryakyn™ warrants that any Küryakyn product 

sold hereunder, if properly installed, maintained
and operated under normal conditions, shall be free

from any defects in materials and workmanship
for a period of one (1) year from the date the
Küryakyn products are sold to the customer.

CONSEQUENTIAL DAMAGES:
Küryakyn shall not be liable for any

consequential or incidental damages.

A B O U T O U R C ATA L O G
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online
today–select the ”CATALOGS” icon. Each Küryakyn™

product comes with a Proof-of-Purchase good for a
complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other
Küryakynproducts, the motorcycle parts and

accessories designed for riders by riders.

©2003 Küryakyn USA™ All Rights reserved.

P I C .1


